Tpotyapbl cneBa

Ha obountHe
[lopoxHble

orpaxaeHua cneBsa

Ha pasaenvtensHomn

,ﬂ,OpO)KHaﬂ pa3mMeTka cneBa

oY =3
) =
=} S

DNieMeHTbI B NnJiaHe R=40, a=-150° o R=60, a=156° -
~— = <

MpoaonbHbI Npodub

00

R=94057, L=220

220

BI/IAI/IMOCTb B OﬁpaTHOM HanpaBaeHun

1000

[MpoeKkT opraHn3aumn 4OPOXXHOrO ABUXEHMUA
c. AnekcaHaposckoe 14. yn. Hekpacosa
0,000 - 0,220

1

14. yn. Hexkpacosa

11. ﬂpoesg 1

BI/IAI/IMOCTb B NpAMOM HanpasaeHun

,ﬂ,OpO)KHaﬂ pa3mMeTKka crnpasa

Ha pasaenntensHomn
[lopo>kHble

orpaxaeHus cnpaea
Ha o6ounHe

TpoTyapbl cnpasa




